
Первый признак равенства треугольников 

Дано:   АВ = СВ,  ∟АВН  =  ∟СВН  (см. рисунок). 

Доказать:  АН  =  НС. 

Доказательство.  ∆ АВН  = _________ по двум _________________________ 

_______________ (ВН  -  ______________________________________________ 

_____________________ ). Поэтому  АН = ________ 

 

 А 

                                                                                     

 

                   В                                                                  Н 

 

                         

                                    С 

                    


